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GEOGRAPHY — GENERAL
Paper : (GE/CC-4)
(Cartography)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Category - A

Answer any five questions (each within 50 words). 2x5

What is ratio scale? Give examples.

The polar coordinate of a point W is 24 m, 45°30" . Calculate the cartesian coordinate of W.

The map length of a railline 16 cm represents the corresponding ground length of 11 km. Calculate the
R.F. of corresponding map.

What is standard parallel?

What are the components of a map?

If reduced bearing of a line XY is 8 24°09"11"E, calculate the whole circle bearing (WCB) of that
line.
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| mation Level) is 7.000 m and SR (Staff Reading) of a particular point is 1.075 m what will
‘of that point?

Category - B
Answer any four questions (each within 150 words). 5x4

tion the two main parts of a prismatic compass and their uses.

the reference scheme of open series Topographical Map of Survey of India.

State the uses of isopleth maps with examples.

Differentiate between geo-stationary and sun-synchronous satellites.

Category - C

Answer any two questions (each within 500 words). 10x2

i
2%
the concept of bearing. Classify bearing according to different bases with diagrams and
ples.




